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709 Y5 %E / Hilis 2.0
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70y w5 %E / Hlis 4.0
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7oy w5 BE / Hilisy 2.0
G C4YHRin 53 3.0
ZT—-12Ac+2Z29—12A¢ 3.0
Z7T-12Ac¢ 0.0
Z9—-12Ac 0.0
Z7-12Ac+Z9—-12Ac 2.0

BHESTINOFE. 28R Z 7T —12AcH 2.5 g, Z 9 —12AcC $10.25 ugk{Ef,
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1.1mg -39 F 7 217
1.1 mg KELrZF0 7 1 22
0.3 3mg KEENZ o7 1 4
0.1 1mg KBS T 2 2
0.0 3 3mg K®ELF 0T 1 0
0.01 1ng i A 1 0

9. 17~ 10. 2 JUMELEAN, ZT—12Ac - Z9—12Ac=10:1

BIEX LFEOZRHDEM Fak BEORE

Jx S # ® # B O 85
100:0 0 7 3 1 Omg 3

99:1 23 - - 3mg 8

97:3 13 - - 1mg 6

90:10 4 49 8 0.3 mg 3

75:25 - 14 1 0.1 mg 3

50:50 0 - 1 0.0 1 mg 2

25.175 - 0 0 - ik 5 8/ 2

0:100 - 0 0
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ZT7-12A¢(100)+2Z9—12Ac (10) 8 7
Z7—12Ac(100)+Z9 —12Ac(I)+ET7T-12Ac(3) 4 -
Z7-12Ac(100)+Z 9 —12Ac (100+E 9 —12A¢c(0.3) 1 -
ZT7T—12Ac(100)+2Z29 —12Ac(IO)+E7—-12Ac(3)+E9—-12Ac(0.3) 3 17

Z7T—12AcoOfit 1mg



